Exercise 4.3 The First Derivative Test
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0 1. Find the local maximum and minimum values of f.
() flay = 3% — 4y + 13 (b) f(x) = a* — 12x — 5
](C) _,‘L\') = 2 4+ 5y = ° (d) flx) = x* — !

2. Find the critical numbers, intervals of increase and decrease, and
local maximum values of the function. Then use this information to
sketch the graph of f.

(@ fx) =2 + 6 — 6¢°
(b) flx) = x* — 9 + 24x ~ 10
() glx) = 1 + 3 — 2
(d) g(x) = 3 — 16 4+ |82 + 1
() M) = =82+ 6
(fy Mx) = 3> — 54
3. Find the local maximum and minimum values of f.

b

[@lfw = 240 - 4 ® f) = T
@ Jx) = x4 = x (@) fi) = xV1 =

4. Find the absolute maximum or minimum value of the function,

, N o3 —

) A - Nr-x+1
l(c) ig(-\) = = ) gw) = —5 Y= 0
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